Roll No.
T .

Series RLH/2 C:;_:_ :i“" 30/2/2

® Please check that this question paper contains 11 printed pages.
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® Please check that this question paper contains 30 questions.
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" General Instructions :
(i)  All questions are compulsory.

(it)  The question paper consists of 30 questions divided into four sections — A, B, C and D.
Section A comprises of ten questions of 1 mark each, Section B comprises of five
questions of 2 marks each, Section C comprises of ten questions of 3 marks each and

Section D comprises of five questions of 6 marks each

(iti) All questions in Section A are to be answered in one word, one sentence or as per the

exact requirement of the question.

(iv) There is no overall choice. However, an internal choice has been provided in one
- guestion of 2 marks each, three guestions of 3 marks each and two questions of 6 marks

each. You have to attempt only one of the alternatives in all such questions.

(v)  In question on construction, the drawings should be neat and exactly as per the given

measurement.

(vi) Use of calculators is not permitted.
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(ii)
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(iv)

(v)

(vi)
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SECTION A
|ug A

Questions number 1 to 10 carry 1 mark each.
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1. A die is thrown once. Find the probability of getting a number less than 3.

TS YW S TS SR GE T | 3 ¥ B 9@ A9 # wiged 39 Sifsw |

2. The surface area of a sphere is 616 em?. Find its radius.

TF e F U SEh 616 YA | IHH S w9 HiET |

3. In Figure 1, PQ || BC and AP : PB = 1: 2. Find
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4. TFind the class marks of classes 10 — 25 and 35 — 55.
I 1025 991 35-55 & a7 fag Fd FieC |

5. Complete the missing entries in the following factor tree :
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6. If (x +a) is a factor of 2x* + 2ax + 5x + 10, find a.

A (x + a), TTH 2% + 2ax + 5x + 10 H HAGLS &, @ a & AF I HC |

7. Show that x = -3 1is a solution of 2x2 $Bx=3=0.

eyfet ff x=-3, 2x%+5x-3=0 & 3 ¢ |

8. The first term of an A.P. is p and its common difference is q. Find its 1

T GRS &1 Y49 U€ p 94T THH §E IF<W q 2 | $TH THEl € ¥ & |

Oﬂc1 term,

9. If cos A= 2—75 , find the value of tan A + cot A.

afe cosA:%, al . tan A + cot A & AE I ST |
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11.

12,

13.

14.

The lengths of the diagonals of a rhombus are 30 ¢cm and 40 ¢cm. Find the side of the
rhombus.
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SECTION B
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Questions number 11 to 15 carry 2 marks each.
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E is a point on the side AD produced of a B ABCD and BE intersects CD at F. Show
that A ABE ~ A CFB.

TR FqYS ABCD & g% TR YT AD W fd E & fa 8 @4 BE S CD H

F 1 Yfg=sc &l @ | euist % A ABE ~ A CFB.

Find the value of k if the points (k, 3), (6, —2) and (-3, 4) are collinear.

kK F OE I SN A A (k 3), (6, —2) T (-3, 4) WE § |

If sec 2A = cosec (A — 42)°, where 2A is an acute angle, find the value of A.
OR

In a A ABC, right-angled at A, if tanC = Jg, find the value of

sin B cos C + cos B sin C.

TG sec 24 = cosec (A — 42)°, &l 2A TH =F-HT ¢, O AFH AF Fd HioC |
AYdT

Q_GHAABC"E, WAWW%, qﬁtanC:ﬁ%, A sin B cos C + cos B sin C
FH HE Id FHET |

Find all the zeros of the polynomial x* oy x® - 34x2 - 4x + 120, if two of its zeros are
2 and — 2.

TEUT x4 x° - 84x® - 4x + 120 & T YHE T AT, A I9F F YAF 2 I
2% |
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15. A bag contains 4 red, 5 black and 3 yellow balls. A ball is taken out of the bag at
random, Find the probability that the ball:taken cut 1s of (i) yellow colour (i) not of red
coloar.
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SECTION C
G s |

Questions number 16 to 25 carry 3 marks ech.
wrT TEg 16 § 25 7% A% Y & 5 &%

16. In Figure 2, ABC is a gquadrant of a cirele of radiug 14 cm and a semi-cirele is drawn
with BC as diameter. Find the area of the shaded region,

Figure 2
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17. Prove that a parallelogram circumscribing a circle is a rhombus.
OR

In Figure 3, AD L BC. Prove that AB? + CD? = BD? + ACZ
®

Figure 3

fos 3T 5 & 39 & IR0 9 R TGET T FEEgHS B @ 1
e

FFfa 37, AD 1 Bc. fag @fw & AB? + cD? = BD? + AC2
o .

A
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18. Draw a right triangle in which the sides containing the right angle are 5 em and 4 cm.

Construct a similar triangle whose sides are g times the sides of the above triangle.
3Y gEET B F WA NG S wEE s Al el # eengat 5 6
49§ | I S & 99eY @ o e oy e Tde e Sww e
5
ShT
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19. The mid-points of the sides of a triangle are (3, 4); (4, 6) and (5, 7). Find the coordinates
- of the vertices of the triangle.

@ﬁwaﬁwﬁraﬁmﬂg&ﬂ%ﬁﬁwm4 (4,6) T 5,78 | Brysr & it
% fadwis 3 Fifsw |

20. Show that A(=3, 2), B(=5, =5), C(2, =3) and D(4, 4) are the vertices of a rhombus.

Taisd & A3, 2), B(-5, -5), C(2, -3) T4 D4, 4) Th guuqds & 3 & |
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21. Prove that :
(L + cot A +tan A) (sin A —cos A) = sin A tan A — cot A cos A.

OR

Without using trigonometric tables, evaluate the following :

9 C?S 58 L J§ cos 38° cosec 52
sin 32° tan 15° tan 60° tan 75°

fag =ifo f& -

(1 + cot A + tan A) (sin A — cos A) = sin A tan A — cot A cos A.
HGCT

Famfrdg afawsl & w@m G, 9 & 99 99 S

9 cos H8° _ 3 cos 38° cosec 52°
sin 32° tan 15° tan 60° tan 75°

22, Use Euclid’s Division Lemma to show that the square of any positive integer is either of

the form 3m or (3m + 1) for some integer m.

Ffere fours wfgsE & A S uike 5 5 wAes gl @ o9 e qoifs
m& U sma Bm+F &7 F B 2

23. Represent the following pair of equations graphicaliy and write the coordinates of points

where the lines intersect y-axis :

Xx+3y=6

2x - 3y = 12
frg Tl gm &1 smew 3w fAefm AT @ T el & fuis 39 Fifse
el Wil yow & wfoede W § o

X+3y=6

2x — 3y =12

24. For what value of n are the n'? terms of two A.P.s 63, 65, 67, ... and 3, 10, 17, ...
equal ?

OR

th ')th

If m times the m™ term of an A.P. is equal to n times its nth term, find the (m + n

term of the A.P.
n%F 59 79 & fau g g 9fedl 63, 65, 67, .. 9 3, 10, 17, ... % nd U GUH
x .

AR
ofe 5 9IRS F md U F om A A9 0¥ U F oo A GO E, O 9O I8
F (m + n)d 95 F9 FHfAC |
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25, In an AP, the first term is 25, nlth term is —17 and sum to first n terms is 60. Find n
and d, the common difference.

Us =R 9% & Y9 Y€ 25, ndl UE 17 4T YEH n Ya & AN 608 | n Ol
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SECTION D
WU T

Questions number 26 to 30 carry 6 marks each.

9T G 26 T 30 7% T9F T 3 6 3F F |

26. Find mean, medianland mode of the following data :

Classes Frequency
0-50 2 -
50 — 100 3
100 — 150 5
150 — 200 6
200 - 250 5
250 — 300 3
300 —I350 1

fr sitdet @1 W, s oo 9gew T BT

CEl ISR

0 - 560 2
50 - 100 | 3
100 — 150 5
150 — 200 6
200 — 250 5
250 — 300 &
300 — 350 1.
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If the radii of the circular ends of a conical bucket, which is 16 cm high, are 20 ¢cm and

8 c¢m, find the capacity and total surface area of the bucket. [Use 1 = 2—72]

afc fedt vivarsR areel, sl 9% 16 I 2, & SR ol & fread 20 @4 Gan

8 2, Al 39 A e 9O Fo USE &A% WA HOC | (n= 2 g

A pe'acnck is sitting on the top of a pillar, which is 9 m high. From a point 27 m away
from the bottom of the pillar, a snake is coming to its hole at the base of the pillar.
Seeing the snake the peacock pounces on it. If their speeds are equal, at what distance

from the hole is the snake caught ?

OR

The difference of two numbers is 4. If the difference of their reciprocals is '-;—1, find the

two numbers.

oM I WY F RN R G AR AT 2 | 27 & 20 ¥ v 99 W faw, &
W ¥ Ue § fad 2, #1 SIK on W1 8 | §iT $ 3 AR 3 3W W FuST AW | AR
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If a line is drawn parallel to one side of a triangle to intersect the other two sides in
distinct points, prove that the other two sides are divided in the same ratio.

Using the above, prove the following :

In Figure 4, AB || DE and BC || EF. Prove that AC || DF.




Prove that the lengths of tangents drawn from an external point to a circle are equal.

Using the above, prove the following :

ABC is an isosceles triangle in which AB = AC, circumscribed about a circle, as shown
in Figure 5. Prove that the base is bisected by the point of contact.

A

B P C
Figure 5
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30. An aeroplane, when 3000 m high, passes vertically above another aeroplane at an
instant, when the angle of elevation of the two aeroplanes from the same point on the
ground are 60° and 45° respectively. Find the vertical distance between the aeroplanes.

(Use +/3 = 1-732) |
U GgAE, ST 3000 W O# TAE W %,wmw%mmﬁmw

TRAT @ S aE agaEl & g F R g @ SEF S0 HEEE 600 79T 45° € |
TEEE F A P HEER T T FGC | (V3 = 1732 FH T FIW0)
30/2/2 11 4,100




